Pt. 1: Pfeved na minuty:
a)5°= S €) 26°10' =

b)1°12'= d) 64°6' =

Pt. 2: Pfeved na stupné nebo na stupné a minuty:

a) 120' = c) 150 = .
b 420' = d212'=_.
Pr. 3: Secti:

a) 5°+12°20'=
b) 25°10' + 46°28' =
c) 156°1' +45"10' =

Pt. 4: Odecti:
a) 89°41' — 6°15'=.

b)32°33' - 15*13'=

o124 -1 e
Pt. 5: Vypoditej, vysledek uprav:

a) 36°48' + 105°36' =

b)55°29' + 5 '=_________

£) 19°40" + 47°45' =

d)65°32' + 9°42' =

812 A e :

f) 46720+ 12°40' =
Pt. 6: Vypocitej:

a) 180° - 65°10' =

b) 180° — 100°40' =

c) 180° - 3°54' =
d)180° - 178°55' =
Pt. 7: Vypocite;j:
a) 29*10"'— 9°40' =
D) 100°5" - 55°20' =
€) 59°22' - 17°30"= _
d) 89°19' - 80°45' =

e) 287°10'-147°41"' =

Pt. 1: Pfeved na minuty:
a)5°= S €) 26°10' =

b)1°12'= d) 64°6' =

Pt. 2: Pfeved na stupné nebo na stupné a minuty:

a) 120 = c) 150" = .
b)420'= d212'=_.
Pr. 3: Secti:

a) 5°+12°20' =

b) 25°10' + 46°28' =
c) 156"1' +45"10' =

Pt. 4: Odecti:
a) 89°41' — 6°15'=.

b)32°33' - 15°13'=

c)122°45' -108°¢' = _______
Pt. 5: Vypoditej, vysledek uprav:

a) 36°48' + 105°36'=
b)55°29'+2*51'=_______

c) 19°40" + 47°45' =

d) 65°32' + 9°42' =

e) 122°41'+ 5% =_________ .

f) 46°20"'+ 12°40' =
Pt. 6: Vypocitej:

a) 180° - 65°10'=

b) 180° — 100°40" =

c) 180" - 3°54' =
d)180° - 178°55' =
Pt. 7: Vypocitej:
a) 29°10"' - 9°40' =
b) 100°5" - 55°20' =
€) 59°22"' - 17°30'= _
d) 89°19' — 80°45' =

e) 287°10'-147°41' =



